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79 1)

a) lim (x2+x—3): lim x2(1+£—£j=+oo

X—>+00 X—>+00 X X2
Apa agod f(x)=x*+x-3

f(x)2x*+x-3 }

lim (X2+X—3)=+oo

X—>+0

= lim f(x) =+

X—>+0

KpATApE HOvo Toug
peyotofddpong opovg

B) lim (x3—x2—2x+1) - lim x3 = —o0

X—>—0 X—>—0

Apa agod f(x)<x®—x*—2x+1

= lim f(x) =

X—>—0

f(x)<x®-x*-2x+1 }

lim (x3—x2 —2x+1)=—oo

X—>—0
KpoTdpe Hovo Toug
. ) peyiotofdbpong opovg . )
lim (—2x° +3x -5) - lim—2x2 = —o
X—>+00 X—>+00

Apa agod f(x)<-2x*+3x-5

= lim f(x) =—0

X—>+0

f(x)<-2x*+3x-5
lim (—Zx2 +3x—5) =

X—>+0

79 3

KpoTdpe povo tovg
peyiotoféOpovg dpovg

lim (x3—x+1) — lim x3 = +oo

X—>+00 X—>+0

Apa agod f(x)=x®—x+1

f(x)2x®-x+1 }

lim (X3—X+1)=+oo

X—>+0

= lim f (x) =+

X—>+0

79 4)

KpaTape povo tovg
B X2 + 3X +2 peytotofadiovg opovg .
2x -7

xZ
X—>—00 X

X—>—00

2
X +3X+2
Apa opo0 f(x) s ————M—
po-agov f(x) < =—-—
2
f(x)sx +3X+2
2X—7 )
) = lim f (x) =—0
. [ XT4+3x+2 X0
lim| ———— |=—
x>l 2X =7

79 5)



lim

X—>+00

KPOTape Hovo Toug 3
X4 — X+ 1 peylotoPdbiong dpovg i X/(
59X -2

Xt =x+1

A ) f >

pa agod f(x) .
4

() XX

X2 = lim f (x) =+

. X4 —X+1 X—>+0
lim| ——= |=+x
X—>+00 5X -2



